B+ BY BB R R #2171 5 (DC 3% R) M8
M8x22 M8x22 M8x32
1.5mm 2.5mm 2.0mm 4.0mm 1.5mm 2.5mm
#EA E|$:] #HA E| 3] BA E[ 34

IM8-M1.5NA-Y3L2/S22 | 1

IM8-F2.5NA-Y3L2/S22

1ZM8-M02NA-Y3L2/S22

1ZM8-FO04NA-Y3L2/S22

IM8-M1.5NA-Y3V3/S32

IM8-F2.5NA-Y3V3/S32

IM8-M1.5NB-Y3L2/S22 | 2

IM8-F2.5NB-Y3L2/S22

1ZM8-M02NB-Y3L2/S22

2 | 1ZM8-F04NB-Y3L2/S22

IM8-M1.5NB-Y3V3/$32

IM8-F2.5NB-Y3V3/S32

IM8-M1.5PA-Y3L2/S22 | 4

IM8-F2.5PA-Y3L2/S22

1ZM8-M02PA-Y3L2/S22

4 | 1ZM8-F04PA-Y3L2/S22

IM8-M1.5PA-Y3V3/832

IM8-F2.5PA-Y3V3/832

IM8-M1.5PB-Y3L2/S22

IM8-F2.5PB-Y3L2/S22

1ZM8-M02PB-Y3L2/S22

1ZM8-F04PB-Y3L2/S22

IM8-M1.5PB-Y3V3/832

IM8-F2.5PB-Y3V3/S32

4
—\

SW13

_Msxi
v
i ~
aasshi
o Y
% LED
3.2
©

M8x1
vy [ ]
~ (L 1)
o 0 &
g L d
LED
ol ®3.2
Y

M8x1, o
][]
B
i ~
v‘E SBBLIN
ol ) |
Z LED
3.2
W

U
22

32

4
5

SW13

,_
m

LA
|

1.5mm=*10% 2.5mm=*10% 2.0mm=*=10% 4.0mm=*=10% 1.5mm=*10% 2.5mm=*10%
1~10% 1~10% 1~10% 1~10% 1~10% 1~10%
$#8x8x1mm ££8x8x1mm ££8x8x1mm $12x12x1mm $#8x8x1mm $8x8x1mm
2500Hz 2000Hz 2000Hz 1500Hz 2500Hz 2000Hz
<Sn*3% <Sn*3% <Sn*3%
<0.01mA <0.01mA <0.01mA
<10mA <10mA <15mA
<200mA <200mA <200mA
<2V <2V <2V
R R BR3P, S B3 BR AR 3P R R HE R 3P 5 B R BR R 3P R R R IP, T B R BB AR 4R
HIEERAT(ER) HIERRAT(E &) MIERAT(E )
-25~+70°C -25~+70°C -25~+70°C
<Sn*10% <Sn*10% <Sn*x10%
-25~+80°C -25~+80°C -25~+80°C

50MQ 1L E(DC 500VIkRR3R), 78 . EREE H F5h 52 < (8]

50MQ A_E(DC 500VIKER ), FE BB B EE BN Sk 2 (8]

50MQ L _E(DC 500VIKRR3R), 7t EREE H AP < 8]

% & ¥R EEN60947-5-2

T & ¥R HEEN60947-5-2

& ¥R EEN60947-5-2

IP67 IP67 IP67
B 48 #2M; 4M 12 ¢3.2mm B 48 #2M; SN 12 ¢3.2mm 3§TM 8% £ 82

S FE W RE A 85 446 ) T R 2R R

I TR AN 5 ;4% A T A Y 2

TR AN 6 S48 A T A R 2R

E:1,2,4,55%%ES, iHR05M.

http//:www.shmuxi.com

woobp B§WEST

B~

i
e
)57

X

o
ota

i)

\J
g

BRI

2

Bt w

Bair ok

B8



	Ò³Ãæ  1

